-----

64+x=92
64-x=13
X-95=5
X+7=93
3+x=7
82-X=62
X+24=76
. 85-x=53

§ ————————y————— 5 . - - B B v : T v 3 ® | SR e




 64+X=92 64-x=13
X+7=93 X-95=5
3+X=7 82-X=62
X+24=76 85-x=53

é P —————— N T —




- X-34=48:3 .

- -

- -
- -
. -
- -
e "
- "

- -
- Lo
- >

- - -
. ' e |

e e e — S s T e A ——— —— e w——— !




..................

| X-34=48:3
X-34=16
X=34+16
X=50

50-34=48:3
16=16
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PeweHue
YPaBHEHUN
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Llenb ypoka:

~* HayuutbCA ...




Llenb ypoka:

° Hay‘-II/ITbCFI peLlaTtb CJ10XKHbIE YPaBHEHUA
HAa HaxoXgeHne HeEM3BECTHOIO
BblHNTAEMOIO I YMEHbLLUAEMOIO.




58-X=69:3 X-32=16*2 "
77-X=8*6 X-25=54:2 ;
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[lomaluHee 3agaHue.

* YyeOHUuK N2 321, 324.




